Post of Forest Apprentice in Tamil Nadu Forest
Subordinate Service (Group-VI Services)

Which of the following is called as Inorganic benzene?
Spsameupmar arg “saiib Quanfar” aar PSSLILHEDS ?

(A Borazine (B) Diborane
Gumy&err e GunGre

(C) Borax (D) Boron Nitride
Guimgré e Cumyresr enBLan(H

(E) Answer not known
eflen Az flweiidensy

The chemical formula of borax is
Cumpréev Carngdler Goudl eumium@

(A) H3BO3 (B) CazBGOH N 5H20
(8 Na,B,0,-10H,0 (D) Ca,B,0,

(E) Answer not known
cllenL GsRweildreney

In which of the following compounds the central atom is having the
hybridization of sp®d3?

SpsarL CamphisEhar erHe el i)l sp’d® Qanssarieu Qubpdrars ?
W IF; (B) 1F;
(C) Sk (D) XeF,

(E) Answer not known
dfenL Gz flweiidvaney
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4.  Ionisation energy from He to Xe

He @pso Xe auary sweflung@o synpa

(A) Increases (Wbecreases
o WTdlmg, G@Dang)

(C) Remains the same (D) Increases and then decreases
rpieudldaney o whg Yenert Gapdlng)

(E) Answer not known
dilen Qg flweldena

5. In modern periodic table, the periodic elements are arranged in the order
of increasing
Belianr geuigger il Leuameanuie saflbmssr ——— et gpeuflesuie aufleans
U@ SsLILRE eTmen.
(A) atomic weight (B) atomic radius
2igm Hleo S Y TID
(G/ atomic number (D) atomic volume
@M GTEHT @ LI(HLOE

(E) Answer not known
sllenL. Qg flwelerene

6. What is the hybridisation of C10; and Cl0O;?

ClO3 wpm ClO;-ér saubanongd wremas?

(A)  sp? and sp® (~B/sp3 and sp®
sz LHmID Sp3 Sp3 bHMID Sp3

(C) sp® and sp® (D) sp® and sp®
sp’ wpgid sp ~ sp” wppid sp

(E) Answer not known
ellen_ QgMweiidene
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The usage of silicone is

AN&Carer ——— vwiardng.

(A)

©

(E)

to prepare explosive
GeugQummer swmfide

to prepare detergents
3@ rQlgger swimfliiGle

Answer not known
cllenL Qgflweildwvene

(B) to prepare soap
Geriiy swmfludled

(Mo prepare water proof cloth
st U LTe pent swmilindle

Find out the reactant in the following reaction

B203 +6N3F+3

—)2BF3 + 3N32804 + 3H20

Qe (b FweTUM iged 2 drer ellenanGummaner SeRT(H Iy

B203 + GNa F + 3

(A) NaHSO,

(C) H,SO;

(E) Answer not known

The chemical formula of diborane 1s

cllenL Qg Rweidansa

L CunGrafler Ceudl eumiuim(

(Ay” B:zHs

©)
(E)

BsHsNs3

Answer not known
sflen_ Gz flweddanen

— 2BF; +3Na,S0, + 3H,0

®H,50,

(D) NaHSO,

(B) (Bz2He)2
(D) BH;

Chemistry
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10. The attraction that an atom exerts on a pair of electrons that is being
shared with another atom for forming co-valent bond is referred to as its
sstilemenriLy Garwgdler udlipgafléatiul L TOSLITMRT @UF M S USSLD
&GU(HD SeTenlndiE GLiwm

(A) Electron affinity (Ryﬁlectro negativity
GTESGLTEdT BT L LD ETESL_TITES &6UIT S6ientD

(C) Ionisation potential (D) Valency
Sjualuré@h < hmed @ enemrdlmatt

(E) Answer not known
cllenL @sflwueicrensw

11. Which of the following element has the highest electron affinity?
Seraupd saflbwrigeildr AHGLLE TS TTer BT L Ib 2 6TeT SN 6rg) ?

(A) F &
(C) Br D) 1

(E) Answer not known
e Ggflweldvenc

12. The outermost electronic configuration of the element with the highest
value of electron affinity is

oifles aoslgrean mriLd wdiy seLw galwsdHar Geuell el L ereéL ymer

SenLoLiY
(A) ns?np (B) ns? np®
(s.)/ ns? np? (D) ns? np?

(E) Answer not known
ellenL Qzflweilcrenay
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13.

14.

15.

The energy released when one mole of the gaseous cations and one mole
of the gaseous anions combine to form one mole of the ionic crystal is
known as

@@ Gurd eumy Hlevewulld oder adif Hueaflyw, @m Cord eury Hereudd
2 arem G Syweflyb @earss @@ GCwred Uysb 2 @maungb Curg Qeuefluumb
<2bHpev

(A) Kinetic energy (B) Ionisation energy
@Qu&s <y Hmeb SjuaflunsEn <LHnd

(GJ/ Lattice energy (D) Internal energy
Uges sl QbHDD 346 BHOE

(E) Answer not known
ellenL Qg Mwailcrensy

The decreasing order of melting point of chlorides is
&Barmeng(Hgaflen 2 (@ Hlevasaflean @omi@ euflens

(A) AICl; > MgCl, > NaCl (B) NaCl> AiCl; > MgCl,
(C) MgCl, > NaCl > AlCl, (WaCl > MgCl, > AlCl,

(E) Answer not known
cllenL Qs flwefdrenay

The electronegativity of F, Cl, Br and I are 4.0, 3.0, 2.8 and 2.5. Which of
the following hydrogen halide has the highest degree of ionic character?

F, Cl, Br vpmw I gtdweapden erasgrer sauir sarew wpepCu 4.0, 3.0, 2.8
wHmb 2.5, SPpssaTL erhgs manl rRe anraah Sls swells sare umlbsg) ?
(A) HI (B) HBr

(©) HCl (BHF

(E) Answer not known
aflen Qgflwaelcrene
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16. Elements with atomic number 2, 10, 18, 36, 54, 86 are called
el eramr 2, 10, 18, 36, 54, 86 2 drer gaflomisd s@psstiufpin Qsb

(A) light elements ®Tnert gases
Ceveren gaflwriger DBS CUMLEESET

(C) halogens (D) lanthanides
QD TGV GHT MHST(h&ET

(E) Answer not known
dlen Qaflwaierena

17. The shape of ammonia molecule is
0Cwraflur ppasamder augaib

(A) T-shaped (B) Trigonal-planar
T-augeuid Wp&Camenr sarib

(G/ Pyramidal (D) Square planar
) 1o\ [ Q(F SETF FFHITLD

(E) Answer not known
e Qg flwaicrene

18.  Which of the following does not involve sp? hybridisation?

eeu(heuameumiler Sp? GanssliLnésd @owrss g ?

@A) ClO; ®BCL,
(©) NCl, (D) CI0;

(E) Answer not known
eflenL Qgflweldrena
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19.

20.

21.

The hybridisation of boron in diborane is
o L_CunGrefler 2 érer Cuipmeiien Gars selidarnd

(A) sp’ (B) sp?
(& sp D) spid
(E) Answer not known

cllent_ GsMweiidena

The magnetic properties of substances can be measured with the help of

Qumrerseiler arbss semapnHL ——— 2 HEMNUL 6T SETESOTID.

(A) Spectro photometer (B) Viscometer
Blpwrene gaflomefl um@hlanay siarel!

(Q/ Gouy balance (D) Potentiometer
ST SIT& Weren (psswmedl

(E) Answer not known
sfen Qgflweildenc

In physisorption, the attracting force is
@uwe uriys seurEdlla, searey elleas

(A) Ionic bond (B) Hydrogen bond
Swafll Generriiy enaunL_yenen YenawTLiy

(QVV an der waals force (D) Langmuir force
QUITERTLIT eumeban ellene it ellens

(E) Answer not known
ellenL Qaflweildena
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22.

23.

24,

Silver sols can be obtained by treating dilute solutions of silver nitrate
with

Brgs Qeuerafll el Cri(Hien —————— Caimtiugen epaid Qeudrall fyeussntp Qup
(PiguLLD.
(A)  sulphuric acid (Rpfannic acid
&h55 idleid Lrafld il
(C) stearic acid (D) oleic acid
eviquwiflé yflevd s Sfleb

(E) Answer not known
cllev WgRweildvame

The dispersed phase and dispersion medium of clouds are
and

Cuwasdparer alye| Havawenn wHmib eflFead e &b —————— WwHmib
(A) gas, liquid (B) liquid, liquid
eumyy, B o, Biwb
Ol 11qu1d gas (D) solid, liquid
Briow, eumyy dlemow, ol

(E) Answer not known
aflen Gaflwefdvene

The particle size of true solutions is
2 GTENLDE SEFFEOI6T HIHET IjaTey

(A) >2000 A ®1-10A
(C) 10-100A (D) 100 — 2000 A

(E) Answer not known
cllew Qs flueicrena

Chemistry 10



25.

96

27.

Which of the following is an example for an emulsion?
EDSFHRTLUDMIET T8 LMTOLSHDSTE ST G ?

(A) Paints (B) Ink
GL GBT T L 4L & & 6iT ML

(R Milk (D) Colloidal gold
Limed FDLOG SRS

(E) Answer not known
eflenL Qs flwelldenay

The promoter used in the synthesis of ammonia by Haber’s process is
Capuir @pepuld HwGworeiur gurfsgb Cumg vweaTLHSSHLEL 2 wWiTsH

DGLD.
(A) finely divided iron (B) asbestos
H&T gasaTmaasiulL @bl SO BTIT
(C) platinum (Ryfolybdenum
Germigeod Lom6dl il 7LD

(E) Answer not known
aflenL. @sfweildwena

The precipitating power of POE", Cl™ and SOE_ ions 1s in the order
PO, CI” wpmid SOZ eyfuaipdern efipuigarssd Spaflar aflams

(A) SO¥ >PO¥>Cl R PO > S0 > CI

(C) ClI">P0O¥ >80% (D) S0Z >Cl” >POY

(E) Answer not known
eflenL Gsflueicensy

11 Chemistry
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28. Whaich of the following is a positively changed colloidal sol?
Spssam_eupmier erg CrTLOGT Semenlo C&TaTL nlplod GEd ?

(A) Arsenic sulphide @7 Aluminium hydroxide

g figaflsd sdenui(p Slaflub eant Jréamaen(H
(C) Starch (D) Clay

GULTITE el essr

(E) Answer not known
clen Qg fwieicoena

29. The increasing order of dipole moment in dichlorobenzenes is
oL @&CermCrr Quenfensafian E)mparen HmriLgsHpanaatian gmeufeans

(A) ortho < meta < para QMara < meta < ortho
9 $Csr < AuiLr < urgr umyr < Quwler < oyisCsm
(C) meta <para <ortho (D) ortho < para < meta
Quiir < umr < &T5CsT < T5CsT < umyr < Qi

(E) Answer not known
el Gsflueidenay

30. Which of the following is not a constitutive property?
Spdaareupiley erg eIl LTy Sentuimg ?

(A) Viscosity (B) Optical activity
UTG&GSSemanid eafl HHMIb Sereno

(Q Molecular mass (D) Surface tension
ePVETAM CTEnL Uiy @peilans

(E) Answer not known
ellenL QgRweildene
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31.

32.

33.

The bent structure of water molecule is proved by its —— value.

Bfler cuemerss eIy Bigenr ————— AN mwHa HaplssiuGdng.
(A) surface tension (B) viscosity

urly @ pelens UMGSSeTentn
(C) dielectric constant Ry dipole moment

WemrsmiiL wrdledl @ mapenes FmLiydHmen

(E) Answer not known
cllenL. GsNwaidenay

Which of the following is NOT a ferromagnetic material?
SD&HEHSTL_uDMIET 6Tg W& &MhsL QUTmET @dema?

(A) Iron (Mopper
@ mby &TUUIT
(C) Cobalt (D) Nickel
Camume_ Fléad

(E) Answer not known
cflen AzMweilcene

Substances which retain their magnetic property when removed from
the magnetic field are known as

sl Hosddmbs Bsdell L Gn@h srhsssarawau saassbs Quphmedn

GummeTger

(A) Diamagnetic (B) Paramagnetic
aMhs eHldEs FHemenpu|enl &MhG FFTULE SH6TenLDw|enL Ul
(M‘ erromagnetic (D) Anti-ferromagnetic
DWEETHSS SEenLOU|ent Ul GTET - DWE STHSS SeTenLOW|ENL_ L]

(E) Answer not known
cllen. QgMwelerene
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34. Identify the ferromagnetic substance in the following

H6treu(HeuaTeUDNIET SIWEETHS ST QUITIHENETS &Ies.
A) Al (B) Mg

€ Cu QO

(E) Answer not known
ellen Qgtlwefcrene

35. The unit for dipole moment is
@mepevanu HLLensudlen oiaE
(A) Coulomb metres .(B)/Coulomb metres
(C) Coulomb? metres™! (D) Coulomb metres2

(E) Answer not known
sllen Gsflwedidvana

36. For precipitating Fe(OH); sol (positive), which is correct order of the
precipitating power of [Fe(CN) 6]3_, SO2™ and C17?

Fe(OH); spuwn (Ceiwen) afpuge; Qeueusne [Fe(CN) 6]3_, S02- LoHmiLb
Cl” g dwapde aSpugeansegn dpaler sflunar euflans erg)?

&Y [Fe(CN) P> 803> CI” (B) [Fe(CN):]* < C1"< SOZ"
(C) Cl < [Fe(CN) (>~ < S0%~ (D) SO2 < Cl < [Fe(CN) (>

(E) Answer not known
aflenL Gz flwefdane
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37.

38.

39.

For precipitating an As,S; colloid (negative), the correct order of the

precipitating power of Al**, Ba?" and Na' ions is

As,S, (afinap) smiposos Spuyanss, Al*T, Ba® wpmn Nat ewealseafer
g eursss paflar sflurear aufleans

(A) Na' > Al* > Ba?* (B) Al**< Ba?"< Na*
(&y” A1** > Ba%'> Na* (D) Ba®" > Al**> Na*

(E) Answer not known
ellen Qgflweideane

Identify the chromophone in the following groups
Spasar_ Asm@gdsaid fpw srdaw sam@Hidy

(4) -OH (B) - OR
Q”>C=0 (D) -NH,

(E) Answer not known
slanL Qg fluefdvenc

Identify the following dye
emeu(pid srugans &OIIEH.

CO NH
CHE®O
NH/ \CO

(A) Methyl orange (B) Congo red
BEes60 < rEHs smGar feuliy
(& Indigo (D) Fluorescein
@ erig Cam Y @sr&enn

(E) Answer not known
sllenL GQsflueioensw
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40.

41.

42.

Which is not a Lewis acid?
orgl @ruiled sidlewb Henwirg) ?

(A) BF; (B) FeCls
(Q” NaCl (D) AlCl;

(E) Answer not known
ellenL_ Qg flweldrens

Nitration of benzene is an example for —————— reaction.
Quenfeafler eopLCor ghpb ———— cllemand@ @it ahiSISsM L nEb.
(A) Nucleophilic substitution . (Mlectrophilic substitution
&(h&&Halit U HeSL ([ eresL_rman seulr uSleSL (b
(C) Elimination (D) Addition
2 Gaitiy

(E) Answer not known
aflenL QgMwaicena

What is the formula for sucrose?
&&Cymedler eumiump wimg)?

(A) CeHi206 (M12H22011
(C) (CeH1003)4 (D) CisH32016

(E) Answer not known
aflen @gMwelivena
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43.

44,

45.

Which compound will not reduce Tollen’s reagent?
Lreerev sranflanw @hssns Carwb erg) ?

(A/ Sucrose (B) Fructose
&&Crmev ) YGr&GL_re

(C) Lactose (D) Glucose
rsGLmen &lepsGamen

(E) Answer not known
aflenL Qsflwueiidema

Name the compound
GeiwsHen Cuwer e (pgis

(A) Benzene (B) Benzone
Quenden QuetGames

(& Benzyne (D) Pyridine
Quearengeit 19 Mg b7

(E) Answer not known
cllenL Qg flweiecrency

Friedel-craft’s alkylation reaction is an example for ————— reaction.
Qflce  dgricey poesCann odever  eaatug @ ———— ellovansE
T(HSGSSTLLMEGD.
(Mlectrophilic substitution (B) Nucleophilic substitution
TeSLTren Seui LSS H sméseui uSeSL_ ()
(C) Elimination (D) Addition
[i¥:2:2 Geiriy

(E) Answer not known
cflanL Qg flweldens
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46. Name the following acid
Qetreumd Sflwgamstt uufl(Hs

(A) Saccharic acid

F&EETNE Siblevb

(GV Gluconic acid
- GEnsCarais b

(E) Answer not known
allenL. Qgflwelwene

COOH
|

(CHOH),

CH,OH

(B) Glucaric acid
Sl EEAIE: aL&wLb

(D) Sorbital

Frrdll_L_meé

47. What catalyst is used to get sorbital from Glucose?

g elaanysdenwus aram® @EnsGaralladmhg sridl L raa sumissond?

(A) Bry/H,O
(C) HI/P

(E) Answer not known
clenL Gsflwefdrena

Chemistry

(B) HCN

(NH, /Pt
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48.

49.

50.

Complete the following reaction
Glucose + phenyl hydrazine —?
Wemeumd aflenarenw Ligd Qe
&@p&Camev + Sevaned ewanl_gfler — ?

(A) Glucose phenylhydrazine
G@EnsGamey Menardanan L rélesr

(B)/Glucose phenylhydrazone

GERECaTen Yevardanant.Gamer

(C) Glucose hydrazine
& ensCarev et e

(D) Hydrazine glucose
e jlern & @nsGsmen

(E) Answer not known
e QgMweildena

Identify the auxochrome
B Qumsdlew sar@illy

A -N=N- (B) >C=0
(© -N=0 . ®ZO0H

(E) Answer not known
ellenL Qzflwelidena

Which electrophile is formed during nitration of Aromatic compounds?
TS eTeslymen seulm sryantl HCrrGwLlys epl Crr ghpssld o arrdmg ?

4) SO; (B) SO,

(K03 ®) R

(E) Answer not known
cltenL QgMwefcens
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51. Which electrophile is formed in Friedel-craft’s alkaylation?
Thg sl grer smsseut srrenfl Gilid-Srmil. g omaGobnssad o arLrdng ?

(A) NO; (B) SO,

GV R* (D) R™

(E) Answer not known
clenL Gsflwaicrene

52. What are the reactants used for fluorescein preparation?
| H@prFen gwrfgsealles eranan ellanamiG@un@L_ser LweiuBHSsiu( &arne ?
(A) Resorcinol + Acetic anhydride
fenrflemed + o gs Biled
(B)/ 2 molecules of resorcinol + Phthalic anhydride
ferrflarmed @@ epovsammeEer + smells Hifled
(C) Resorcinol + 2 molecule of Acetic acid
fNerrflermed + HHL 146 b B P&
(D) Resorcinol + phthalic acid
feriflammed + srells blewld

(E) Answer not known
cllenL Gsfweicrensy
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53.

54.

What is the product of following reaction?

Indigo

Distillation | o

Zndust
high temp

Qemeupd ellenaruiler ellenar GLIMmET eTabren ?

SMUEFS Qg 556

@ &g Casm >
Zn gper
<ifla Qeutium

(A) Alizarin ®Tndole

&l &Fifl et @enGLméd
(C) Isatin _ (D) Isatin chloride

@\ gmg e @emgen &Carmanr®
(E) Answer not known

cflenL QgMweiidwenc

What is the product obtained when glucose is reduced with HI and
Phosphorous?

HI whmib urevugavens Qaran( @@rsCanams phsdamad daliug g ?

(A)

©

(E)

Sorbital (B) Gluconic acid

gl Lmed Gen&Caralls il
Heptanoic acid (W -hexane
Qapuiammuis <udleid n-GemsGaer

Answer not known
allen Ggfweidana
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55. How many chiral carbons the tartaric acid is having?
Lrimflé syl assamar Siawwby sHlugnssaer Clubnererg ?

(A) 4 (B) 3

€ 1 Q2

(E) Answer not known
sllen_ Gsflweidwena

56. The shape of sp3 hybridised orbitals is

spd @ans seluiurssiulC oA Lrelen <iepoli

(A) Trigonal planar . (B) Square planar
w&Careng Semb QR HOTEF FFITD

(C) Linear (M‘etrahedron
Cpir Camrk Brem(Lpd]

(E) Answer not known
eflen GQgMweierena

57. Which of the following compounds can not exhibit stereo isomerism?
SpsaaTeupmier ergl prinfloment wrHOwb SriLmg ?

(A) Maleic acid
wedudlé oleld

(B) Fumeric acid
Gyworfls iblen

((V Acetylene dicarboxylic acid
S8 g eber epLamiur&dleds ofeld

(D) Tartaric acid
Lmremflég siudetb

(E) Answer not known
ellenL Qaflwelidwency
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58.

59.

Which of the following compounds does not show optical 1somerism?
SpaaTLeupmer org allsapndl wrpflusms sr(Heuddme ?

(A) Lactic acid (B) Tartaric acid
OT&lgd leid crienfls e
& Maleic acid (D) 1,3-dichloro propadiene
eudd Bleid 1,3-anLGGarnCrr LyCrmiurenL uien

(E) Answer not known
eflenL Qgflwuaidency

Which among the following has the ‘R’ configuration?

" Qereumeuaaupmiet ergl R ym oemwliyenuig)

NH, Cl
o H-C—COOH (8) CICH, - G- CH(CH,),
(|)0002H5 (IJH3
CHO H
® HO—(:)—H (D) HO—(IJ—CH3
CH,OH (|JOOH

(E) Answer not known
dlilenL Qgflwefcrena
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60. Which among the following has ‘S’ configuration?

AeseuheuaieuhmIET 6rg S LD <AHLILeDLUIg) ?

COOH OH
s H2N—(|}—H (B) HOOC—C - H
o, o,
CHO Cl
©) H—(I_J—()H , (D) Br-_l(JuCOOH
CH,OH '

H

(E) Answer not known
allen Qgflwefdensy

61. The decreasing order of acidic strength is
Sl auellenwufenr @i, euflens
(A)/ C,H, > C,H, > C,H,

(¢ C,H,>C,Hy;>CyH,

(B) C,H, >C,H, > C,H,

(E) Answer not known
eflen Gz fwelcane
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62.

63.

64.

. KMnO
Fumaric acid —————24

. R KMnO
Sabtomilé e 7 T

(A) Meso tartaric acid
BCer Lrirfs @leoh

(C) () tartaric acid
(+) Larinfs ondleon

(E) Answer not known
cflenL Qgflweildene

(RyC+) tartaric acid
() Lnimfé =pfevd

(D) (-) tartaric acid
) urrirflé sflelb

The carbon atom in carbanion is having ————— hybridisation.

amiuen i swefluiler sriue gmieier solard

(A) sp
(&) sp?

(E) Answer not known
aflen Qg Mwaeicrena

Structure of carbocation 1s
sniuen Gri jwefluflen el
(A) square planar

8817 S6T aligauld
(C) tetrahedral

pretpdl euigaulb

(E) Answer not known
eflenL Qzflweidena

(B) sp?
(D) spid

(B) pyramidal
Grd@H eulgeud

(D)‘Slanar triangular

ger Wp&EGCETERT 6Ulg.6ULD
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65. Identify the geometrical isomer
culgeu IHHL Sienwienu SRy

NH,
I
(A) OH-C-CH; (B) CH,OH-CHOH-CHO
I
Cl
(C/ COOHCH = CHCOOH (D) CH;CHOHCH;,

(E) Answer not known
ellen @z Mwaldwene

66. In geometrical isomerism notation Z’ derived from the

language.
augeu wrHPwusHD o erer Z FHHEH ——— QumPuie @Eha QupliurLg).
(A) Latin (B) Greek
s Se SCrésn
&/ German (D) English
Qepirinesr <Gl

(E) Answer not known
elen Qg flweidene

67 H-C=C-H-—H2 49

(A)/ A carbanion (B) A carbonium ion

(5 STrGUETWITE e stiGuraflun owefl
(C) A free radical (D) radical ion

@@ safl 2miiy 2 MUy Siwief

(E) Answer not known
sflen Qg Mweldena
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68.

69.

The two unsaturated carbon atoms of geometrical isomers belong to
hybridisation.

agel wrhHlusde oder @Qraw@  Heopaypr sriussaT —————  @aTs
sOUUTESD CETamLeao.

@A) sp (B ep?

(C) sp° (D) dsp®

(E) Answer not known

allen QgMweideana

Which form will be more stable in disubstituted cyclohexanes? .
@rienr  ufdLouc L essGambansCealler g wds Heoouys s
o2 MLWG?

(A)/ Chair form with maximum equatorial substituents
ofs sereufl Yenariiy uSlSHsamers CsramL BrHETS Ll

(B) Boat form with maximum axial substituents
<fls sFsn GAavenriy udladasamend CsTRTL UL @G el

(C) Chair form with maximum axial substituents
s sFst Gevaiy ufdBsmend GamarL BrHsmell oenwLiL]

(D) Boat form with maximum equatorial substituents
<fs geraud GAememiiy ufldHamand Qe UL @ el

(E) Answer not known

dflen Gz fMuweldena

27 Chemistry
[Turn over



70. Maleic acid and fumaric acid are
wedulls bled whHmid Wywrflé ol eremLic

(A/ Geometric isomers (B) Optical 1somers

6uig6 LMD HlwikigeT eaflFapnd wrhblwkisd
(C) Position isomers (D) Functional isomers

@ wrHMuikiser ellenansbgn@d wrHMuriser

(E) Answer not known
allenL Gsflueidena

71. Which among the following has the highest Steric effect?
Sssam_eupdler o718 wflasmrar Qandrafl ellenetencus Q& mamberarg: ?

(A) cis-2-butene (B) trans-2-butene
Flev-2-19 L Lo 6 G TTEa -2 - 19y te Gb7

(C/ cis-3-hexene (D) trans-3-hexene
&ev-3-Camsedesr lg TTesTe - 3-Qam&erder

(E) Answer not known
cflenL Qsflueidency

72. t-butyl carbonium ion is more stable than ethyl carbonium ion. Because
it has —————— number of hyperconjugation structures.

t-Gy e smGurelluw welurerg, ade srCuraflub Swalaw bl fls
Bevawlyssamenowearergl. garaflldr o5 —— aanafisdamsionrear eapul
sneaneeGage eulyeueLiLsEmerd GlamarHeTerg).

A 3 (B) 6

(CJ/ 9 (D) 12

(E) Answer not known
e Qsflweldena
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73.

74.

Mesomeric effect involves with —————— types of bonds.

BCer@wfs eflenarey ————— SenammiiysEpLen FUBSLILLL g
(A) Single (B) Double
@oep Qe
(C) Triple (Moth (B) and (C)
(PLOEMLD (B) wpgn (C)

(E) Answer not known
ellenL Qgflweildene

An example for nucleophile is

SESET HeuT AUTmEEE @f THSHESTH

(&) S04 @ 1,0
® @

(C) CH;, (D) NO,

(E) Answer not known
elenL Qgflweiidency
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75. (I)I (l)MgX
-C- + R-MgX—— —|C—

Carbonyl Grignard
Compound reagent

This reaction is an example for

IOMgX
[
-C- + R-MgX—— —lC—

sriueeredd  Hflsermir)

Gefrioid smyenfl ) R

Geuallenar ————— &@& @if TOSSSSTL({H.

(A) Electrophilic addition (B)/Klucleophilic addition
TesLymen seult Garuy edlever Semsa(n seult Cariy eflaner

(C) Electrophilic substitution (D) Nucleophilic substitution
eredL et seul LIS (B ellener SIEMISSHMH HeuT ueor () ellenar

(E) Answer not known
slilenL. Qg fluafcrens

76. Cis-2-butene is less stable than trans-2-butene because of

flev-2-Gylealler  Hlevaiyggarann  yretev-2- Ayl emar L G@Deurs
2 GTETHH(& SMTERILD

(A) mesomeric effect (B) inductive effect
BCer@ofs efleneray et elleneray

(G)/ steric effect (D) hyperconjugation
Qamerefl elleneray anem LI SreneoCaageir

(E) Answer not known
eflen Ggflweildeney
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7.

78.

79.

Which among the following is an example for +M effect group?
Spsaam_aupiler +M aleneray Qgn@gdé@E, ag @i 2 gryaib?

«&” -OCH; B) >C=0

(C) —CN (D) —NO:

(E) Answer not known
ellenL Gghweildena

An example for +I effect group is

+1 slenareydrar QsnEdéE @f 2 gryamb

@) -NO - (ROl
(C) Cl- (D) —-OH

(E) Answer not known
eflenL Qgflwaildena

CH,CH,OH + Con.H,S0, —2?
CH,CH,OH + Con.H,S0, —2
(SILT)
(A) CH,-CH, RyCH, = CH,
(C) CH=CH (D) Both (A) and (B)

(A) vpoid (B) @rem@nd

(E) Answer not known
cllenL Qg flweicrens

31 Chemistry
[Turn over



80. Tertiary alkyl halides undergo hydrolysis, preferable by
reaction.

epailemennu s GCanma@sdr, Brmhugssader Gurg (psaeLWNs
eflenaruiemmed penGLmith.

Ay Syl (B) Sy2
Sy 1 Sy 2

(€) Syi (D) Both (A) and (B)
Syi (A) wppd (B) @renpid

(E) Answer not known
allen Gz Mwalcrana

81. Which among the following is the best electrophile?
SDSEHAMLcUDMIET 68 HDHS TOSLTI6H Seuir Syewt ?

(A)  Br &/ Br

(C) Br” (D) Br

(E) Answer not known
elen Gsflwafdene

82. The best leaving groups in Sy 1 reactions are

Syl demarsaiia Blesdnns GUE AsrEdss

(A) Strong acids (B) Strong bases
Ml gs Blekser aIfwfés sTrhiser

(C) Weak acids (RQAVeak bases
eiflwd Geopnhs Siblongdr Ml GeopHs syhiser

(E) Answer not known
e Gsflweierena
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83.

84.

85.

The central carbon atom, in the transition state of Sy2 reaction is

SN2 eeverufen @enHlencuied, ewwd STTLGT Gl R

(A) dicoordinated (B) tricoordinated
@rienL gmhdmamug (PO G(HEISEHERTIIZ

(C) tetracoordinated (RlAentacoordinated
BTebid; ep(HidlenenTig) LhHE @nEdlenaTug,

(E) Answer not known
e G flueficrensy

The reaction in which a diene is added to dienophile to form an adduct is

L uSar, en_uSGamenLicd Q{,Qmm B aanbg) G Ceiingans g,@ni; cllenan

(A) Cannizzaro reaction (B) Kolbe reaction
senaflenCGrr allenat CamebL1 ellener

(Miels-Alder reaction (D) Wittig reaction
le 06D <YL1T eilaner Al igmi eflenest

(E) Answer not known
aflen Gghweidena

In Syl reaction, the substrate molecule changes its hybridisation from

to
Syl deande, Sigpposamprans saig Gassolurssme ———o @)(HHs
&@& LIHHIEDFI.
(A) sp, sp? (B) sp? sp?
(80 sp?, sp? (D) sp2, sp

(E) Answer not known
eflen GsNweildrene
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86. Which of the following is NOT an électrOphile?

SpsTLeuDMIET 6Tgl TS TSN STt @dane ?
(A) BF; (B) R;Co®
(C) AICl, &”H,C =CH,

(E) Answer not known
e Gsflweleane

87. Transition state is observed in ——————— reaction during the hydrolysis
of CH3Cl '
CHsCl gSompugssadler Qe flaar Qurgmar ——— allaandd sramiiupéng.
Ay’ Sy 2 (B) Sy’
Sy 2 Sy’
(C) Syl (D) Both (A) and (C)
Sl (A) wpib (C) @ran@id

(E) Answer not known
cllenL G fweicreney

88. Which of the following free radical is the most stable?
Spsesam_eupmier eThs sefluynliy s Hlaelys sereuererg) ?

(A) CHj; (Methyl) (B) Primary
CH; (Qugdle) efenamrw

(C) Secondary @Y Tertiary
rrflenamr - eLpallenasrus

(E) Answer not known
eflenL Gsflwueidena
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89. The 1, 2-addition product formed in the reaction between 1, 3-butadiene
and bromine in presence of an inert solvent CCls is

1,3-Gy e wlar, @@ whs seruurer CCle werafieaudeon, yCrmge
ey fNybGurg, deLs@En 1,2-g HECsisams alanarelanerdummer

(A) 3-bromo-1-butene (B) bromo-2-butene
3-yCyrCum-119yy L e 6t HGrrGwm-2-19yyt 1 e

(C‘A/ 3,4-dibromo-1-butene (D) 1,74-dibromo-2-butene
3,4-enCrrGom-1-19y, e 6 1,4-eoLyCyrGum-2-Gyy e e

(E) Answer not known
elan Gsflueidene

90. The order of the reaction during the hydrolysis of t-butyl bromide into
t-butyl alcohol is

t-Quet @ LyGrmenwerr, t-Gwend g dsanrears Brmh uglbear Gurg efenen

LI WITETg ————— G,

(&) First (B) Second
WPSD @ rerLmb

(C) Zero (D) Fractional
Lhshsluih Detrer cTasmem)TaTg)

(E) Answer not known
cflenL Az flwelcene
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91. According to Saytzeff elimination, which is the major product formed in
the following reaction?

CH, - CH, - CH - CH, Ale.KOH .,

Br

Qe Qe fss deandar Gurg, Spssar, domanie sifswores HaLs@n
cllenemeilenet GlLIMHET arg)?

CH, - CH, - CH - CH, Alc KOH o

| Br
(A/ CH, -CH=CH-CH,4 (B) CH, =CH-CH, -CH,4
(C) CH;-CH,-CH,-CH;, " (D) CH, =CH-CH=CH,

(E) Answer not known
cllenL @sflwellcrene

92. Stability order of free radicals is
ehean Weataram o (pLseatlen Hlepewliys semenio cuilans

(A)/ benzyl > allyl > tertiary > secondary > primary’
Querengdd > idanaved > epeilanantw > rflenamnu > eiflanemri

(B) tertiary > secondary > primary > allyl > benzyl
epeilenemtw > rrilenanru > gflenanru > Sidbamad > Quenanged

(C) allyl > benzyl > tertiary > secondary > primary
Slenaed > duetengad > epeflenent > Fiflevemr > giflanemrw

(D) tertiary > secondary > primary > benzyl > allyl
epallenamm > milenewr > flananrus > QuaTamad > e

(E) Answer not known
cllent Ggflwueidene
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93.

94.

95.

K, >K, when?

auGurg, K, > K, @@msgon?

(Mn 1s positive (B) An 1is negative

An Curwenpwirs @(mé@EhGung An adliwenpuing @ime@nGLITE)
(C) An is zero (D) An is fraction

An siflunrs @msEwGung An deramnors @méEGwGurg

(E) Answer not known
cllenL Qg flueicena

AH ;/mol , for water will be, if AS, =26.04 e.u. mol™* and T, = 373.2K
AS, =26.04 eu.mol 'womib T, =373.2K o5 Qmésn Cung, sdreffer
AH, /mol & wdiy

(A)/9718 cal mol-? (B) 5700 cal mol-1

(C) 6960 cal mol-! (D) 8512 cal mol-!

(E) Answer not known
Men AsMweiidency

AG 1s related to equilibrium constant (K) as
AG wnang @uirug swllene wrBledlujer 2 érer (K) 2 arer Qgmiry
(MG =-RTInk (B) AG=RTInk

(C) AG-= _Ink D) AG= Ink
RT RT

(E) Answer not known
aflenL Ggflwelidana
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96. Calculate the AH tormation for COy,
(a) C(S) + Oz(g) —> COz(g) AH = —3935 kJ
(b) COy +1/2 0,  — CO,(g)AH, - 282.0 kJ

SEEHHS :
AH formation fOI‘ CO(g) & (meu ”@‘561)
() Cg+0s, —CO, AH=-393.5kJ

(b) CO +1/2 Oz(g) — CO,(g)AH, —282.0 kJ

(A +111.5kd . . (B) +675.5 kd.
(C) —675.5kd @111.5 kJ

(E) Answer not known
eflen Gsfluaiidvana

97. In ZnS crystal structure, each anion is surrounded by
neighbours of atoms/ions.

ZnS Lgs e@wale, @f afiflar swelurag —— aaTailsamsudorer
SEM&&6TT / Sjwailsermed @LObubmieTeTs.

@A) 3 o
C) 6 (D) 7

(E) Answer not known
eflenL Gghwelcvanaw
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98. A cubic crystal has ————————— number of 4-fold axes.

99.

@R, SHTEGT Ulgs UL ————  Tamaiismsudorar 4-Uy HEHEHMETSE
Q& ream(heTerg.

@ 2 Y%

€ 4 D) 1

(E) Answer not known
silenL Qsfweidrenay

In a Hexagonal crystal system, which one of the following is correct?
@@ AnmCare uLs LU, Epssar_aple g fl?

@) a=f=y=90 (ByAf = f=90°, y=120°
(C) a=zp=90°, y=90° D) azy=+90°, §=120°

(E) Answer not known
allenL Qg flwefcrena

100. The average velocity of a gas is given by

e aumwellenr symadl Geuslb ereLig

2RI’ 3RI’
© {5 O

(E) Answer not known
cllenL Qsflweicrene
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101. For perfect ideal gases, the inter molecular collisions are
poalwdy anyssella, epassmnsserse QoL Cuurer Gorgaser
(A) occurring with a loss of kinetic energy

Pwés YHod @riLer penGumib
(B) non-elastic
Weir B gemenwuldansg)
(C) partially elastic
u@gSwere] Barbr & serenoya g
(B/ occuring with no loss of kinetic energy
Quss Hmd @prnierd perL Gumib
(E) Answer not known
ellenL Qg flwelcreney

102. The expression for Joule-Thomson coefficient is

gOd-gmibgen Geamassharear swetLm@

o (2 (P

( Ugp _[BP)H B) wusr —(aT]H
(o (o

©C)  uyr _[aPJT D) pyp _(BT)P

(E) Answer not known
alen Gsflweicrenay
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103.

104.

105.

Which of the following is not an extensive property?
Qereumueubhdled erg QUMmaTeroFmT LigTL| G)dened ?

(A) volume (B) mass
SR S(GTE Hlenm
(GY temperature (D) entropy
Qeuriubleneo eraom_Grmdl

(E) Answer not known
cllenL Gsflweildenay

Inversion temperature (T;) is equal to

saadp Qavuflaowrarg (T) ————

2b a
@) ®A2

Ra

Rb Ra

0 D) =2
© D) o

(E) Answer not known
dilewL Qsflwaiicrenay

In a unit cell of NaCl lattice, there are

e uigs NaCl an @if owEs sl iy Gupliuma

(M 4 NaCl units (B) 3 Nat*ions

4 NaCl oyew@sdr 3 Na* gueflser
(C) 6 Nations (D) 6CI ions

6 Nat sweflaer 6Cl siwefser

(E) Answer not known
cllenL Qgflweicraney
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106. The translational kinetic energy of one mole of an ideal gas is equal to
@ Curé poedlwdy eumueller @)L LQuwTEd @uss SboeTeaTg

@ ZRT (B) %kT

3
(6/ gRT D) ng

(E) Answer not known
alen Qg fluiefdene
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107. Match the following :

[y

(a) the most probable velocity 1. 8RT)2
M
1
8RT )2
Lﬁ] - - (g -
ey grsdluioner FensCaisd gy
1
. 2. (MRT)?
the average velocit 2.
® 8 g 372 . NAd?
1
2-(MRT)2
gyl fens Gousid :
a 3712 .NAd*

1

(¢c) the root mean square velocity 3. 2

N | =

Geuss eufis syref epaid

| =

(d) wviscosity of a gas 4.

0o | =

G umujelliel Lm@SFenento

3RT
M

3RT
M

2RT )2
M

2RT
M

a o @© @
@ 3 4 1
B 4 3 2
© 3 4 2
&4 1 3

(E) Answer not known
cflenL Qg Mwaicrensv

DO = = DD
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108. The —— of the universe always tends towards a maximum.

T gt ——— erulurygid @@ Sidsuls wdueu Crrédl Qeenmy
O & medaTiq (& & ).
(A) free energy (B) viscosity
&g HME UM&SSETenLD
(Cy entropy (D) efficiency
erer_Grmidl Smebr

(E) Answer not known
ellenL Qgflwalcena

.109. Calculate AH® 80 the reactien
CoH;OH() + 305(g) —>2C04(g) + 3H,0(1) from
AH; C,H,0H(l) = —277.0 PcJ mol ™!
AH; CO,(g) = -393.5 Pcd mol ™
AH; H,O(1) = —285.5 Ped mol ™
AH; C,H,0H(1) = -277.0Pcd mol™
AH; CO4(g) = —393.5PcI mol ™
AH; H;0(l) = -285.5 Pcd mol
e wHULsaN s
CoH,OH() + 30,(g) ——2C0,(g) + 3H,0())
eranp eleanler AH® wduemus sansdps.
(A) +136.65 Pcy (B) —136.65 Pcy
&y -1366.5 Pcy (D) +1366.5 Py

(E) Answer not known
cllenL @Qsflwefcvena
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110.

For an exothermic reaction,

(Here, Hp = enthalpy of products ; Hr = enthalpy of reactants)
@ Weuliu 201 eflenands,

(@m@ Hp = e aflenar Qunmsaflen eremugrednd ;
Hr = aflewanu®p Qumm sefleén erengmendl)
oy” Hp < Hr (B) Hp = Hr

(C) Hp>Hr (D) Hr=0

(E) Answer not known
ellen_ @sMwieiidvency

111. A homogeneous, physically distinct and mechanically separable portion

112.

of a system is known as
@ Senwlber @ ugssrer, Agefleurar yp HlowaGan®, Qubdly B usdarmd

“fsQAghsasamyw UG ——— arenm HwuLuBEDG.

(A) surrounding (B) boundary
&HOIFGPHm® erevane&GaTH

(C/ phase (D) component
HlenewenLo ga )l

(E) Answer not known
cllen Qs fwieicrency

Calculate the miller indices for a plane when the intercepts along the
axes are 2a, 3b and 2c.

2a, 3b wppd 2¢ eaap ENEE QaulBssmers Csram.. geansder LT
GHuihsmers sansdlhHs.

A 232 B) 2 2 3)
@ 323 D) (3 3 2)

(E) Answer not known
slen Ggflweldana

45 Chemistry
[Turn over



113. Van der waals equation for one mole of a gas is
e Gured euryeilen Geuar reumeey FwaTLm@

(A) (p—%](v+b)=RT (B) (p+%)(v+b)=RT
v A%

©) [p—%) (v-b)=RT (nyeriz) (v-b)=RT
v v

(E) Answer not known
ellenL Qgflweildens

114. For an ideal gas, the value of compressibility factor (Z) is
a@ poduay amyelhe Bne Spar smefarn (Z) wfoy

(A/ one (B) zero

e Lpghedluih
(C) less than one (D) greater than one
pareneilLd GHammay garenpeilL Hlab

(E) Answer not known
eflen Qgfweldena

115. RMS velocity is given by the equation
RMS fansGaussdpsrens swearum(

7 [ERT _ [T
@) U= @ u= M
© ymp=,/2—RME D) PV =nRT

(E) Answer not known
cle GgMwaeievanen
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116. Which of the following is not belonging to an orthorhombic crystal

117.

118.

system?

SsasaTLeuhmIdT eTgl B TECHIMDAE Lis ey Garam_gns Gaeame ?

(A) KNO; (B) BaSO4
(€ PbCOs (87 ZnS

(E) Answer not known
clen Gz flweidvency

a=[F=y=90" is true for which among the following crystal?
a=F=y=90" eeaug JdeaaumauaaHne abs UGSSSDHEG
QBEED?

AV Ag | (B) KCIOs

(C) AlO; (D) Mg

(E) Answer not known
elen Gsfwefdwenew

‘Isoquinoline’ moiety is found in
‘0Car@guilGarmaler Qgmgderw 2 drar sdlwg

” Papaverine (B) Chloroquine
uCume el &CermGrm@uiet

(C) Quinine (D) Indomethacin
@&l estenr @ enGLTbss8 e

(E) Answer not known
adlenL GgsMwefidana
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119. The ‘methine’ protons will have ‘6’ value
‘Bsangenr 4GymLnensefler ‘0 wdliiy
W 1.5 B) 2.3

C 29 (D) 3.0

(E) Answer not known
clen Ggflweldvenas

120. The ‘Piperidine’ moiety 1s present in
“WuGuflyer Asr@dluyenwig

(A) Orthocaine . (B) Benzocaine
2,5 CgmQsul e QuenGarQauiier

(C) Procaine (Mucaine
Gyl gule WG suller

(E) Answer not known
sllenL QgMlweldena

121. Among the following, which excitation is not possible around
190-380 nm, in uv?

Hereuneuareuhmiet UV-e erhg HeriéfésiE 190-380 NN aumiiiNéweame ?
A rz-7x B) n-oo’

©C) nor Qrc—-o

(E) Answer not known
elenL. Ggflwaideney
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122.

123.

124.

‘Plicamycin’ is also known as

‘GeflGarennder ereugen Goumy Quuwit

(A) Mitomycin C

el CLrenwder C

(C) CC-1065
CC-1065

(E) Answer not known
s QgMwatdend

Apax for 1,3-butadiene will be
1,3-Qw Lrerwefenr A, wdiy
(A) 178 nm

© 279nm

(E) Answer not known
cllenL Gsflweildena

(B) Actinomycin
24,815 Ganriram o &

@Y Mithramycin

& yrenin e

(B) 227 nm

QY215 nm

Sulphonation of p-cymene, followed by fusion with alkali gives

p-wsdear  sCunGanser  Qauig,
e Lug ?

7 Carvacrol

Siteundlymed

(C) Dimazon

L Caen

(E) Answer not known
cilen GgNueicdena

amysgiLen o (mAw  Bloaulld &HhHubssls
(B) Thymol
GO

(D) P-cymene sulphonic acid
P-ensBen sebCunafs et
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125. Which of the following malaria causing microorganism is the dangerest?
SpsamL wGafwur 2 @ nggh Haranuitaeid ag Baeyb S LssTans ?

(V Plasmodium falciparum (B) Plasmodium vivax
GarmevGomrguid uredQuiyn WermevCmg uih eneu L TEE

(C) Plasmodium ovale (D) Plasmodium malariae
GermevCGomguih ¢pGaued GerrevGumguwid wGafGuws

(E) Answer not known
sllenL. Qg Nwalcend

126. In mass spectroscopy, the ion source is in the pressure of
Qumpamenn Hpwrepauiley, ower LEGHuflen iSSLD

(A) ~10%> mm Hg (B) ~10 mm Hg
(G/ ~10® mm Hg (D) ~102mm Hg

(E) Answer not known
elenrL Qgfluaidend

127. In ESR, radiation used is
ESR fipwreauie abs sdi uuau@ssiiu@dps

(A/ Microwave (B) Radio wave
ewsCrT e CrgCur e
€y Uv (D) IR
uv IR

(E) Answer not known
aflen Qg flweldena
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128.

129.

130.

The chemical structure of ‘Guanidino’ group is

‘@eunafliy Carn Asmgdluien Goudl el
(A/HZN(z NH)NH -~ (B) H,NC(=NH) -
(C) CgzgHzCH,CONH - (D) (CH4CH,),NCO -

(E) Answer not known
eflent Qg Mweicrana

In IR spectra, a band at 1620-1680 cm-! represents
IR flpwrereudd 1620-1680 cm! wfunlerer ul e @hitiug

(A) C-C : &T=C
(© C=C (D) C(sp®)-H

(E) Answer not known
edlenL Gsfluelidene

The wave number corresponding to the wavelength 2.54,, is

2.0, s HarsdHhE FowreT e e WY

(A) 2000 cm! (Ba/4000 cm-1
(C) 8000 cm™! (D) 2500 cm™!

(E) Answer not known
eflen Qafweildeme
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131. Chloramine-T is also known as

@Germyenwen-T e Ceum@uwiir

(A) Chloroquine (B) Halozone
&GenmGrmgedie CanGarGamer

(C) Dichloramine-T (Mlorozone
L gCerryenwen-T &CarrCyrGeme

(E) Answer not known
eflen Ggflweiideney

H
. . N
132. JTUPAC name of is
=
H
N
-aratrp Geirwgder IUPAC Quuit wig 2
-
@& Indole

(B) Indoline

@ enGLmed @enGLmellen
(C) Isoindoline (D) Purine
oGsr @enGLmedlen SsLluyemiyent

(E) Answer not known
elen Gz flweiidenay
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133. The IUPAC name of (C4H;),CH — group is
(CgH;)o CH — @sngdulan IUPAC Quuwi

(A) Benzyl
Queétengad

(C) Benzoyl
Quergmuied

Answer not known
eflenL Ggflweicransy

(E)

(%nzhydryl

Quetrevenan e

(D) Benzamido
QueanevyBiGL T

is an example for naturally occurring local anaesthetics.

@upesiien stamiu@n il o @iie) §68 LHEHDETE TS ESTH

134.
(A) Lignocaine
N &Carrae
(C) Cinchocaine
A enGar e
(E) Answer not known
clenL GsflweNdrenay
135.

(M?ocaine

Carblsiier

(D) Procaine
yCymlgwien

How many chemically equivalent kinds of ‘Hydrogens’ are present in

‘nitrobenzene from the point of view of NMR spectra?

NMR flpwreve Cpréfler eplCrrbudarfaiien asgmear Goudlsswner eami e

QUMNEHET O _CTETET ?

&3

© 1
()

Answer not known
sflenL Qgflwelcrend
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136. The blue colour of sky is due to
eunaflen oo FlnsdlH@s srrenid

(A) Brownien movement (B) Electrophoresis

‘ LGrereflwer @uissid gapoldler Wfens

(C) Electro osmosis Meleigh Scattering
Blemarmh seugp® LFe LD @rrCawsflgme

(E) Answer not known
efler Ggflweiidena

137. In Debye-Huckel equation the electrophoretic effect of an ion due to
genLi-ai&se  swaTuMld, @ Swelfer Bapameans saréd lamarelng
STERTLD
(A) Symmetric atmosphere created by opposite ions
gl (rHm) swellsgamd ghuBn Fimw eNaeray

( Movement of the ion, towards electrode associated with opposite
ions
Tl (Lombm) Swellsaflen @eansasCem®, @ps swed Weapamar Corsd
b&(HSE0

(C) Viscosity of the solvent
sepruurafler um@blane

(D) Symmetric atmosphere created by solvent molecules
SETLILITET LPQLETDISETTE 2 (heumdsIu b &renio aflenarey

(E) Answer not known
sllen GsMwaiicrene
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138.

139.

140.

In which of the following Hg2S04 1s used?
psar_aupmier erdléd HgeSOs vweanu@ssuiu@dpg 2

(A) Daniel cell (B) Calomal electrode
Creflwe Werseaer &Cembe Lilepene

(G/ Weston Cadmium cell (D) Quinhydrone electrode
Qeucven CalBlwib Wergeer @Gelemenanl CGrmesr Wlepene

(E) Answer not known
allanL Qg Mweldrency

Hydrolysis of sucrose in the presence of mineral acid to give glucose and

fructose is an example of reactions.
S(HLOLE FT&SET SIS gL e Brrhu@ssiiuc @), & @h&ECamavnaaL,
SUrSGLmeungeyd wrpd edlanar —— cllanand@, @f 2 FTTERTLD L @GLD.
(A)  First Order @ Pseudo first order
s euflens Cumed apged euflans
(C) Second order (D) Zero order
GrarLmbd euflens shw euflens

(E) Answer not known
e Qaflueidweana

A Catalyst lowers the and makes the reaction faster.
@ AlewarGeus wIHPYl ——— @GNS eSevarenws CausbrsEGHng.
(A) Free energy tivation energy
&L g QT 3 MHme SerireyQamar gphHmed
(C) Kinetic energy (D) Potential energy
Guiss HH Bleve p,dmed

(E) Answer not known
dflenL Qaflweicrend
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141. Hydrogen over voltage of platinised platinumis ——V
Germligemd ysoul L derrlgearsdlen epanlymer  Weng  Wler  i(pSSLOTETG
\%

(A) 0.08 (B) 0.25

e/ 0.00 (D) 0.22

(
(E) Answer not known
cllenL QgMweicrena

142. EMF of a standard calomel electrode at 25°C is
25°C -& g@m S sGomwe Saswgdar e o bg olams
(A/+O.280 \Y% ' -(B) -0.280V -
(C) +0.2415V (D) —0.2415V

(E) Answer not known
cllenL GQsflueiwena

143. 18 not the most convenient standard electrode to use in the
laboratory.

ieusmsatd LwaTuhSss aeaflenwwimar S Ber (pevear @dana.

(A) The Glass electrode

seasenTlg Wlemapenen
(B) The calomel electrode

sGamwed Wlerapenar
(C) The standard silver — silver electrode

S Qeuerafl - Qeudrafl Wenpanar
(-D/ The standard hydrogen electrode

Sl L epami_ygme WleTipena

(E) Answer not known
e Ggflweldane
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144.

145.

From the cell reaction

2Ag(s) - 2Ag*(ag) + 2e, E°=0.80V
Zn2(ag) + 2e- - Zn(s); E°=-0.763V
Calculate E° cell of the reaction
2Ag(s) + Zn2*(aq) —» 2Ag* (aq) + Zn(s)

and predict whether the reaction is feasible or not
QanhHissuul L Wense sllenansafledl(mbgl.

2Ag(s) + Zn?*(aq) — 2Ag* (aq) + Zn(s) aam aeedan E° cell sar@liyss,
Qpg efemer BLE&GWLN, BLESTST eramm Li@GSS0ls.

2Ag(s) — 2Ag*(ag) + 2¢-; E°=0.80V

Zn%(ag) + 2e- > Zn(s); E°=-0.763 V

(A 1.563 v, feasible (B) 1.563 v, not feasible
1.563 v, pLé@Ew 1.563 v, sLésng

(C) -1.563 v, feasible (D) -1.563 v, not feasible
—1.563 v, BL&@WD -1.563 v, pLéang

(E) Answer not known
aflenL Qsfweildoens

Danel cell 1s a cell.

CLeaflud Bearswb m —  Wlatsalb.

(A) Zn-Cd (B) Zn — Mg
(C) Zn-pt &QZn — Cu

(E) Answer not known
aflen. Qsflwaildena
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146. AS is related to EMF (E) as
AS s@gw, EMF (E)sgb o drer Qgmriy

o s® was(l)
@ as = nF(g—?)P (D) AS = nF(g—gl

(E) Answer not known
aflen Gz flweiidana

147. Which of the following is a unimolecular reaction?
Gereumeuareuphler eTgl @HevD ep&IbN ellanemum@id ?
A) 2HI—Hy+1 ®N,0, - NO; + -;-02

(C) Ha+ Cl: —» 2HCI (D) PCls + Cls — PCls

(E) Answer not known
ellen Qg flweildana
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148. Which one of the following statement is not applicable to order of a
reaction?

(1) It is experimentally determined value
(11) It can have zero value

(1) Itis always a whole number

(av) It 1s the sum of powers of concentration terms in the rate law
expression.

Sipsaar ampnseild erg eflenarufien cuflengs@ Qurmhbsrg ?
(1) <@g Qewowep apownss Siwrallsstiu@n whiy

(11)  @iger ALY YHwIoTs E(HESQMD

(111) g TLQUTIPSID (PP CTRTERTTS @) (HH@LD

(1v) <=ig Ceauss sweaumigd oder Gefley e miiyseller Q&GS GDaatan
gt (HSEgTens

A @ (B) (i)
& i) D) (i)

(E) Answer not known
cflenL Qgflwelldene

149. Unit of third order rate constant is
Q@ eparprbd cuflens aflenaruien i@

(A) moll! time! (B) time-!
-1 -1 -1

Cuwre &l Cpyw Cryw

(C) mol1 time! Qymol-212 time-!
-1 -1 -2 2 -1

Curéd &8 Cryb Curéd &8 Cpybd
(E) Answer not known

dflen QzfMweldency
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150. What is the correct ITUPAC name for the ligand CH3COO-?
CH3COO-earenp raflufen sflwrer IUPAC Quuwir wrg?

(A) Acetate (B Acetato
ENY [ (I 8 GGl

(C) Aceto (D) Acetic
<SG S 146

(E) Answer not known
cllenL Ggflweidensy

151. What is the oxidation state of Fe in K4[Fe(CN)g]?
" K4[Fe(CN)s| @ Fe e wisfsGarpn Hlane wig? '
(A) 4+ (B) 3+

0/ 2+ (D) 6+

(E) Answer not known
cllenL Qg Mwalerens

152. EDTA is used in titrations
EDTA —————— smb uniiggeiledr Lwau@ssrinGang.
(A) Acid-base (B) Precipitation
S| Ble-Emy eNipUIg eSS
(C) Permanganometry W Complexometric
QuirmiusCarr@uwi D eRTEUMSE

(E) Answer not known
eflen @gflweildenew
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153. Identify the primary standard in the following compounds.
Wemeu@pd Garwmseatid wpged Hlanew St Qummener sam(H iy

(A) KMNO, ®CuS04.5H:0
(C) HCI (D) H2S04

(E) Answer not known
ellenL Qg flwelcrene

154, Identify the primary standard in the following compounds
Yemeugpid Gamomsaticr s Hlene Hit Qummener sarHidlg.
Oﬁ_/NazC(h ) (B) HC}

(C) NaOH (D) HNOs3

(E) Answer not known
cilenL Qaflwelcrena

155. Colour of the phenolphthalein in NaOH solution is
NaOH sersader Wenrmevigadlefen Hlmbd

(A) Green (B) Blue
LEng HBeod
©) Yellow ®Pink
LD EHEET @emd Seuliy

(E) Answer not known
dflenL Qgflwelcrena
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156. Starch is used as an indicator for which of the following titrations?

s 6Thg STDUMTESNGD o mié Hpism gwns vweTuBhssiubhEng ?

(A) Acidimetry
Silew ST LTTSS®

(C) Permanganometry
QuirriusGem@wL_fl

(E) Answer not known
cflenL Qg flweferene

Ry lodometry

SCGuUrGLmQuor M

(D) Complexometry
DAMWTCUTES SFDOLIMTSSHED

157. If hybridization of central atom in coordination complex is d2sp3, then its

Geometry is -

@f Smemays Geiwsdd envw Sigmeiear swlfarnongd eearug d2spd eearprd,

DS GUlg QLD

(A) Tetrahedral
Brampd)

(C) 'Trigonal planar

W&Carent FeTbd

(E) Answer not known
clan Qg flweidvency

(B) Square planar
Sem FG|JLD

(B Octahedral
eTaRT(LpS

158. The correct IUPAC name of ligand C,0% is

Co0% -aranp mafudan sfuner IUPAC Quuwi

(A) Carbonyl

STITLIGHEITEL

(C) 0OXO
&ECFT

(E) Answer not known
ellen QgMwaldrena

Chemistry
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159.

160.

161.

K2oCre07 1s used 1n titration.

K2Cre07 —— grbunigseller uwaruBEng:.

(A) Acid-base (B) Precipitation
Sjble-gmy eSipLig euTESl
(G\)/ﬁadox (D) Complexometric
&lnCarpm - @H&ES 10 %z o] 33

(E) Answer not known
cllen_ Qgflwailcrens

Find out the coordination compound
wmantals Gernsmns s (g

(A) KCI. Mgl.. 6H-0 (B) K2SO0a4. Alo(SO4)3. 24H20
(€) FeSO. (NH):SO4. 6H:0  WKA[Fe(CN)e)

(E) Answer not known
clenL Qsflweiidrenay

The chemical formula for calcium hexacyanoferrate (II) is
stoflub QansersuCams@uiCy (I1)-er Coud eumiiLinG erarug
(A) Caz [Fe (CN)4] (B) Ca[Fe (CN)s]

(8 CaslFe (CN)i (D) Ca[Fe(CN)

(E) Answer not known
ellen Gz flweildena
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162. The effective atomic number of Cr(IIl) in {Cr(CN)¢]3- is
[Cr(CN)e]3- @ Cr{IIDen fay oigm eretr
(A/ 33 (B) 34
(C) 35 (D) 36

(E) Answer not known
e Ggflwelldane

163. What is the normality when 40 g of NaOH is dissolved in 1 liter of
water?

40 fgmb NaOH-eow em Ot sameifle soagssmd daLs@n mmiomeliig

GTEITGT ?

(A)/ 1 N Solution (B) 0.1 N solution
1 N sengse 0.1 N senysa

(C) 0.2 N solution (D) 2 N solution
0.2 N seopeed 2 N sengod

(E) Answer not known
clewL Ggflwelldvena

164. Na2S203 is used in titrations.
NazS:03———— s umigseled LwaLRSsLEHDS.
(A) Acid-base (B) Precipitation
D~y aiipugeumsdl
(& Radox (D) Complexometric
sallaCarny @Hés SieneRTeu &)

(E) Answer not known
aflenL. Ggflweldene
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165. What is the Geometry of [Fe F¢]3- ion complex?

[Fe F¢]3-eretim sievemroy swelludenr cuigeuld erebes ?

(A) Tetrahedral (B) Square planar
Brenpdl BHaT FFITLD

(C) Trigonal planar (Wahedral
Wp&CaETerT HaTibd erenr (sl

(E) Answer not known
cflen Gsflwedldancy

166. What is the oxidation state of the central atom in K2[N1{CN)4] complex?
" K3[Ni(CN)4] eremp oiamemrays Geiwngdled o dter evwowr signiedlen o seflnGannm

GTGHIT GTEhTET ?
ZNE() &

(C) (I (D) aV)

(E) Answer not known
clenL Qg flwellcrene

167. Oxidation state of cobalt in [Co(NH3)5Cl1}2* is
[Co(NH3)5Cl]2* @0 Canundger SysellspGenpm ereim erebrig)
@) +2 (B T5
€ +4 D) +5

(E) Answer not known
efilenL Qg flwelldancy
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168. Give the EAN no. of [Co(NH3)s]3*
[Co(NH3)e)?*-eéir EAN vdueus sms.
A 24 (B) 32

(& 36 D) 40

(E) Answer not known
sflanL Qg flweldvaney

169. What is the IUPAC name of [CI‘(NH3)6] (NO3)3

[Cr(NHa3)e] (NO3z)z-er IUPAC Quuwit wrg?

(A) Hexd amminechromium (I} nitrate
Qanser swawengGGrmiwn (I) epr Gy

(B) Hexa amminechromium (II) nitrate
Qansen sbenwar@GymSwd (I) epr Crr

(G/ Hexa amminechromium (III) nitrate
Qanser samwan@gGrmdwn (III) emr Gri

(D) Hexa amminechromium (III) nitrite
Qanser <bewar@Grmwnd (I1I) empreap

(E) Answer not known
sllen Qsflwefoena

170. Eriochrome Black T indicator is used in titrations.
afCungCrmb Qerns T flphsr gy ———smb urisgadled LwaTLGEDS.
(A) Acid-base (B) Precipitation
-y eSpritigeunés
(©) Radox ®Complexometric
g sedlnCarhy @hss DTS

(E) Answer not known
efler Ggflwefwana
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171. The EAN of chromium ion in [Fe(CN)g]3- is

172.

[Fe(CN)s]? -en EAN eraior
A 31

(&35

(E) Answer not known
aflent Ggflweidwenc

The ligand hydrazinium is
aanl gfaflut Fafl aerug

(A) NsHj*

(0 ReHs

(E) Answer not known
ellen Qg flweiidene

(B) 33
(D) 38

(B) N2H4*
(D) NzHs*

173. TUPAC name of the complex [Pt(NHs)s (NO2)Cl]SOq4 is
[Pt(NHs)s (NO2)Cl]SO4 erétmn siawamreyé CeiwsHear IUPAC Quuwii eretren 2

(A) Tetra amminenitrochloroplatinum (IV) sulphate

QuLyrebewerapl GrmEgCamCGrmiearmgerd (IV) sdGui

(B) Tetra amminenitrochloroplatinate (IV) sulphate

Qi greywenwearansl GrmgGamGrmierm iy Carn (IV) soCGui

(Mhloronitrotetrammineplantinum (IV) sulphate
&CerrGrCrrenpl Grm@u_greybeweandearm gend (IV) soGui

(D) Chloronitrotetraammineplatinate (IV) sulphate

&CarmCrrenp Crr@L grobewanerm g Car (IV) gGui.

(E) Answer not known
dlenL Qs flwelcrenaw
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174. Find the number of ionisable chlorine atoms in Werner formula of
COCIs.4NH3

CoCl3.4NHs eemp  Qeuent  eumiun’ged zeter  Swaflungnd  @GCermier
Siansaafien cramentlsamasenu geir(H .

(P-/ 1 B) 2
G 3 D) o

(E) Answer not known
slen GgMweldana

175. Lanthanides and Actinides are called as
rhsnaT(haEhD, HWdhamarhisEnn —— eTaT AMPESLLRS D
(A) Transition elements
gL floves saflwhiger
(B)/fnner-transition elements

2 &1 @anLHlenaws seflmiser

(C) Alkali metals

&y 2 Congsiiser

(D) Alkaline earth metals

&y wer 2 Gersmhiser

(E) Answer not known
aflen Gaflweldena
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176. Radioactive Iodine I'3! is used for the treatment of

sfflwssn 11831 gCenCLmy ——— fAféawsiar LwaTLR g
(A) Uterus cancer ( yroid cancer
s@wueu yibm GCrmd angrmiuh ydm Crmi
(C) Breast cancer (D) Skin Cancer
wrrus yon Crm Cgmrér yomy Crmi

(E) Answer not known
cilen QgRwueiidane

177. Which of the following ions is diamagnetic?
T Spssameunmier ahg well Lwnsrbsssarenn Qamam g 2
(AfLa3+ (B) Ce3t
(C) Pr3t (D) Nds+

(E) Answer not known
cllen Gsflwalcrena

178. The order of complex formation ability with a specific ligand for the ions
Ln2+, Ln3* and Ln4*

Ln?*, Ln% wpgid Ln** enpsaah welsda rais@rl e @Qamambs Simene|d
Cernmigamer Qarha@n fper apanpGu

(A” Ln#+ > Ln? > Ln2* (B) Ln2* > Ln3 > Ln#
(C) Ln?2*> Ln* > Ln3* (D) Ln#* > Ln2+*> Lin3*

(E) Answer not known
fent_ Ggflweildana
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179. Which of the following fertilizers contain highest nitrogen percentage?
ST 2 TRISEHHT 2 WiThSULF bl mer e(psamianl 2 L wg) 6Tl ?

(A) Ammonium sulphate (-BYfIrea
bGuraflub F#Gui wRwm

(C) Calcium ammonium nitrate (D) Ammonium nitrate
arodlub SwGwraflun enpr Gl SGuwreflwbd mpr Gy

(E) Answer not known
ellenL Qg Mwalcren

180. The half-life of cobalt —60 is 5.3 years. How much of a 1.000 g of Co-60 is
left after 15.9 year period?

Co-60 er =evy qump sreww 5.3 eumrmsdr 15.9 aumLriusenéesy 9pg 1.000 g
Co-60 & eréueuetay B mEEW ?

(A) 0.125 mg (%5 mg
(C) 12.5mg (D) 875.0 mg

(E) Answer not known
e Qg flwaldrena
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181.

182.

183.

Pick out the correct statement
gflwurer saperp CaTHESEH

(A} Nuclear fusion involves chain reaction
o U @ Wevaoriy eflenen (Nuclear fusion) gm Qsmiirellener

(B) First nuclear power plant in India is located at Kalpakkam
@rduneiler apged @GS 2me GoUNsaSHD BlmyeuliilL g
(C)/ Nuclear energy 1s measured in MeV
<igm nod (Nuclear energy) MeV & warefl_uiu@dps

(D) The energy released by the sun results from nuclear fission
reaction.
Glualdmhs HoLsen hmed =l s Qeriy (nuclear fission)
cllepamullen ellenareum@d

(E) Answer not known
slilenL Qgflwalcrana

If the n/p ratio of a nucleus lies above the stability belt, it preferably
emits ray to attain the stability.

@l sjgmé smeilen aldlgn Hawsseamaw ULaLsE Coors @ maeEGEnbGurg, oig)
— sfey psarewwuns Qe ® Hlaouys gearew GararEnib.

@ o @&rf
© v (D) Cosmic

(E) Answer not known
e Qsfwaicrane

Most common oxidation state of Lanthanides is
anbgoarhsaien Qurgeurer ysallnGarhn Hlene

(A) +4 (B) +4 wpmw +2
(G +2 (B3

(E) Answer not known
eflen Qgflwaicrane
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184. Complete the reaction
Nlenarenu isdl Gelis.
1 Na?t -, Mgt +?
A e B) ,n’

+

& e D) .n°

(E) Answer not known
cllen. Qgflwelevenev

185. Hydrogen Bomb is related to

e L_fmen Gl ——— CsnLiyenLwg).

(A) Nuclear fission (-Bfﬁuclear fusion
SemsaH Yaray SiEmIda(h GenanTiiL

(C) Chemical reaction (D) Aqueous reaction
CGeudl cflenar Bflw eflenes

(E) Answer not known
cllenL Qg Mwaldrena

186. Which element has the highest oxidation state?
ahbg seflob Hfls g saflgnGarmn Hlawamws Cubhoererg ?

A) Ac (B) Th

€ U | O Np

(E) Answer not known
allen GsMweiidena
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187.

188.

189.

Complete the nuclear reaction

2 I & clemanenw LTHd Qadis.
§£0+ 7 H-N+?
N ®) B

€ v D) §

(E) Answer not known
cllenL Qgflwelewend

$C, 1N and {0 are

HC, PN wpgw X0 aemwar

(A)/Isotones (B) Isomers
aGarGLnerger enGam e

(C) Isobars (D) Isotopes
eoGamumiaem oGarCLmiiysar

(E) Answer not known
clenL Qg flwaldrena

2

238U changes into 29°Pb is

The number of B-particles, emitted when

238U ez 290 Pb s wamibGuig, 2 Blptu@in P-gisdrseflan aarefles

@A) 8 &%
€ 2 (D) 14

(E) Answer not known
dflenL Qg Mlweldana
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190. The number of neutrons in the 37Cl isotope is
37C) eyCeanGLmunGigyerer Byl grengeien craimenilEms
@ 18 @&/20
(C) 37 (D) 17

(E) Answer not known
allenL Qg Mweleena

191. Which among the following is not a ‘Lanthanide’?
Nerreu(meuaTaUDMIET 6TFl (T ‘WhEenan(h’ B ?
(A/ Cf : (B) La
(C) Lu (D) Ce

(E) Answer not known
aflen_ Gatlwaiidvenen

192. Which among the following is an ‘Actinide’?
Hemau(mauaTauhmeT 678 @i ‘Sbigaman(h’ @b ?
&y’ Np (B) Pr
(C) Nd (D) Sm

(E) Answer not known
eflenL Qg flwelcrenav

193. An alpha particle fuses with a 12C nucleus to give
@ our giser, 12C 2 smeyLenr e Gurg feiug

&/ 10 ®) M
(C) 1Be (D) 34He

(E) Answer not known
eflen @ flwelldvena
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194. The outer Electronic configuration of Europium is
[Atomic number 63]

rCrmulun  seflwsden  Ceualldomi (h  areslgmafls  yepoliy
(<SIem) oTemm 63) :

(A) 45542682 - (@9/4f7 5d0 6S2
(C)  4f5 5d3 6S0 (D) 4f5 5d4 6S°

(E) Answer not known
cllenL @gMwelcvrenew

195. How many number of elements are present in actinide series?
g sgeah Gsrild assmen crarantlsamauilorar saflbrhisear o drarar?

(A) 28 (B) 56

& 14 D) 7

(E) Answer not known
een Qgflwetldana

196. Lu3*is having property. (Atomic number of Lu — 71)
Lu — vamyérarg. (Lu - i ereir — 71)
(A) Paramagnetic (ByM1amagnetic
SMHG FILILS SETenLD aMhs lws@s Semenn
(C) Ferromagnetic (D) Anti ferromagnetic
HWEETHSS SETenLd GT‘QI"I' HWEEMHSS SHETNLD

(E) Answer not known
elent Ggflweiidvane
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197. The general formula for calctum super phosphate is

sMdlud GUuT UrevGUL e GUTgeITaT MILUTE
@& Ca(Hz PO.): + 2(CaS04.2H:0)

(B) Cas (POs)2 + 2(CaS04.2H:0)

(C) Caz HPO: . Hz0 + 2(CaS0s.2H:0)

(D) Caz Ha(POs)2 + 2(CaS04.2H:0)

(E) Answer not known
clen Gsflwefcrencw

198. Complete the following fusion reaction
EpseaTL Sasa Yevariil cllenarenw Hlanpey C&wIs.

’H, +* H, - ? +neutron

(A/ *He, (B) *He,

(C) 'H,+*He, (D) 'H, +* He,

(E) Answer not known
eflen Qaflwefcvenew

199. Which among the following is coloured?
1Demeu(HeuaTeubmIaT eTg BippenLuig) ?
(A)  Lu¥ (B) Gd3

(C) Las* &Y Pm?

(E) Answer not known
alenL Gsflueidena
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200. The chemical formula of salt Petre 1s
gmeol_ 5 Lir-er Geudleumiium(p
(A) HNOs; (B) K2S04
(&”KNO; D) KCl

(E) Answer not known
e Qg flweiorena
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